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i 4, H HH: v
43 — 252 + 22x— 4 1003 — 45x% — 5x

dx— 1

20x2 — 71x + 63
4x— "7

63x° + 312 — 46x+ 8
Ox—2

3522 + 62x + 24
5x+ 6

1253 + 4322 + 56x + 49
3x+7

S5x

24x3 — 12x% + 54x

6x

6x° + 12x2 + 14x

2x

36x° + 542 + 6x

6x

28x3 + 252 +59x + 8

Tx+ 1
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4x— 1 5y
¥ —6x+4 27%% — Oy — 1
20x2 — 71x + 63 24x° — 122% + 54x
4x— 7 6x
5¢—9 4" = 2x+9

63x° + 312 — 46x+ 8
Ox—2
T2+ Sx—4

3522 + 62x + 24
5x+ 6
Tx+ 4

1203 + 432 + 56x + 49
3x+7
4 + 5x+7

60 + 122 + 14x

2x
3 + 6x+ 7

36x° + 54x° + 6x

6x
6x° + 9x + 1

28x3 + 25x% + 59x + 8

Tx+ 1
4+ 3x+ 8
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